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(98) AESING T
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3) STl HROT ¥) ITIQH

According to the budget 2023-24, the maximum percentage of expenditure to be made by the
government will be for :

1) defence strengthening 2) centrally sponsored schemes

3) interest payment 4) subsidisation
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Total consumption is estimated to grow by 7 per cent in 2021-22 because of
1) Significant contributions from government spending

2) Gross Fixed Capital Formation exceeded pre-pandemic levels

3) Exports of both goods and services have been exceptionally strong
4) All the above
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9) Beh 3T ?) Bh & 3) @ I § ¥) eRIeTddl T
Which of these are the main reasons for increasing public expenditure in India ?

a) Extension of administrative mechanism b) Increase in national income

c¢) Population growth d) Increase in price level.

Answer Options :

1) Only a 2) Only ¢ 3)candd 4) All of the above
MY srefdssed A ' AESND Befral 9R ... @R gSdl.

q) Tt i ?) ufeedt fach 3) rdt fodh 8) AR T
According to modern economists “The burden of public debt lieson ......"

1) Present generation 2) Past generation

3) Future generation 4) None of these
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What are the resulting effects of growth of public expenditure stated by Peacock and Wiseman ?

a) Displacement effect b) Deepening and widening effect

c¢) Inspection effect d) Concentration effect.

Answer Options :

lI)a,bandc 2)a,candd 3)b,candd 4) All of the above
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